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ECONOMICS
Paper III

Time Allowed : 2% Hours) (Maximum Marks ; 150

Note :— This question paper contains seventy five (75) multiple choice questions,
- Each question carries two (2) marks. Attempt all questions.

1. Elasticity of substitution for commodity X and Y is mathematically defined
as :

___d()/(xY)
®) 1ol = (MRS ) (MRSy)

_ d(AX/AY)/(AX /AY)
B) le] = d(MRSyy )/(MRSyy)

|- AKIY)K/Y)
ok 1Al = d(AMRSyy )/(AMRSyy )

o] - d(AQx /Qx)/(aQy / Qy)
D) 11 = " (aPy /Py )/(aPy / Py)

2. Dead-weight loss is equal to :
(A) Net loss of consumer surplus and producer surplus
(B) Net difference between total revenue and total cost
(C) Is equal to sunk cost

(D) Loss equal to fixed cost

T.B.C.: 1714/ET—III 2



weA-g= 111
T ;2% g0 | [quits = 150
AT : 3/ WA H UEE (75) TEEed T E | W v E 9 (2) F% ¥ W
T % T g |

1. X 3R Ysqg % o vfmge =1 o &1 1hem w9 § ufonfes fmm 9@ 2

e - d(X/Y) (XY)
(A) 11 = J(MRSyy ) (MRSxy)

, |~ d(AX/AY) (aX/AY)
B) &1 = F(MRSyy) (MRSgy)

o = - AE/Y) (X/Y)
(©) 151 = (aMRSyy ) (AMRSyy)

e = d(aQy / Q) {f’—**'%‘:rfq‘f]
D) 1= " a(apy P ) (aPy 1Py)

2. WAWR & M T =T ¥
(4) ITERN SHRF AN T AfRw e wf
(B) g N o g WR ¥ 3 o
(C) T wmma & W

(D) fer =\ % 999 =@k
T.B.C.: 1714ET—III 3 F.T.O.



3. Which one is true 7

(i) If Average Cost (AC) is increasing; Marginal Cost (MC) is greater than
Average Cost (AC) and if Average Cost (AC) is decreasing; Marginal Cost

(MC) is less than Average Cost (AC)

(ii) If Average Cost (AC) is increasing; Marginal Cost (MC) also increases and

if Average Cost (AC) decreases; Marginal Cost (MC) also increases.
(A) Both (i) and (i) are true
(B) Both (i) and (ii) are-false
(C) Only (i) is true
(D) Only (i) is true
4 Which of the following is not a Direct Tax ?
(A) Income Tax (B) Corporate Profit Tax
(C) Value Added Tax (D) Wealth Tax

5. In the linear programming problem the optimal value of the ohjective functions

of the primal and the dual :
(A) are different to each other
(B) are negative 1tu each other
(C) are equal to each other

(D) none of the above

TB.C.: 1T14ET-II 4



3.

4.

3.

= d Fw wE ¥ ?

() =7 3fme =vE (AC) 5% T T, ot dimim sre (MO) 3 e (AC) H S
¥ 3R TR e o (AC) FH @ T A, T Arm (M) 2 Ha ArE (AC)
T F9E

(i) T 3fme e (AC) W @ ¥, durm @rm (MC) o 92 W %, s e
Aa (AC) ®H @ W, O e (MO) s W= W R

(A) BF (i) i (i) wE ¥

(B) M1 (i) ¥R (i) Towm B

(C) #&& (i) Wet &

(D) Haet (i) & &

fretfafaa § & #9& wousw 99 (Direct Tax) ¥ 7

(A) FET (B) Frm @mq =

(C) ¥ (Value Added Tax) (D) w=fd T

fes s § wufas w9=n am f5dm 99 & %99 Hod 5 7=oq oA
(A) T gEt A = ¥

(B) TF 1 Ued gEi % WMUNAE Yod § AR ¥ ¥

(C) 3w Tu B @

D) 3945 | & w5 ff w6 & T

T.B.C.: 17T14/ET—III b P.T.O.



6. Given the consumption function C = 0.7 ¥ and the investment function

1 =90 — 0.3 i, then the IS curve ig 2

(A) v = 250 — 10e _ (By, y =300 - 10

(C) v = 300 - 2 My y = 2560 - 5i
7 Whe has defined the concept of shadow prices first time ?
(A) G. Myrdal
(B) H. Leibenstein
(C) J. Tinbergen
(D) Rosenstein-Rodan
8. The Fiat money refers to :
(A) Full bodied money
(B) Legal money

(C) Tllegal money

(D) Deposit money

TB.C.: 1TN4/ETIII 6



6. vﬁmﬁﬁmtﬁﬁ#sﬂwﬁmw%ﬁc=ﬂ.?yaﬁfﬁéﬂm—ﬂql=9ﬂ+ﬂ.3E

T IS T W UER § AW

(A) 'y = 250 - 10i . ® y =300 - 10

(C) y = 300 - 2i D)y =250 — 5i
7. Teell @R wiead wma i uiame R d 2

(A) =it fa=fa

(B) wu. ferfeees

(C) 3. femeq

(D) AfwT-Tem
8. afufew | wewd ¥

(4) T 7w T

(B) 39 a7

(C) =189 31

(D} =91 q=1

TB.C.: 171 4/ET—III 7 P.T.0.
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9. Match the following and select the correct answer from the codes given

below

(1) Rawisian Justic (i)  Social Contract theory

(2) Karl Marx | (ii) Labour theory of value

(3) Kenneth Arrow (iii) Impossibility theorem

(4) Tiebout Hypothesis (jv) Local provision of public goods
Codes :

_(1) (2) (3) (4)
(A) @ (it) (113 (iv)
(B) (@) (itz) (iv) (¥)
(&) t12)) (it1) (1) (i)
Dy @) (tv) (1) (i)
10. Households derive their incomes from basic sources :
(A) from wages or salaries received in exchange for labour
(B) from property that is capital, land and so forth
(C) both (A) and (B)

(D) neither (A) nor (B)

T.B.C.: 1714ET—II 8



9. Frfafes #i gafem #ifse aw =9 &3 g0 %2 ¥ of s= 9fm .

(1) welfo wfew @ O R A

(2) = T . @) 7w oum fagm

(3) #79 Wl (ii5) rEEa w1 fgga

(4) fewgm wimen (fv) WESAH TG H =G
H :

nm @ @ @
A O @ G G
B) G) G G 6
© G G @ @)
O @G G G G
10. TS W MO ¥ S T S w2
(A) 99 % o7 § &t 7 e
(B) ¥=fd W 58 & &, 4fy sofe w
(C) (A) sg=n (B) ¥l & |

D) 7@ A i 3 & (B

T.B.C.: 1714ET—II 9 P.T.O.



11. W. Leontief tested his hypothesis with the help of an input-output table :

12,

13.

(A) For United States in 1947 (B) For USSR in 1947
(C) For United States in 1967 (D) None of these

The concept of general equilibrium and partial equilibrium are associated

respectively with :
(A) Arrow and Marshall (B} Ricardo and Walras
(C) Walras and Marshall (D)  Marshall and Keynes

Mateh List I and List II and select the correct answer using the codes

given below

List 1 List II
(@) Kinked curve (i}  Market segmentation
{b) Lorenz curve (ii} Inequalities
{c) Laffer curve (fii) Price rigidity
(d) Offer curve (iv) Reciprocal demand

() Puhii-: Revenue

Codes :

ez ) (&) leh (cf)
(A)y (i) {te) (w) (iv)
(B) - (@ (£EQ) {fw) (zE)
(cy (i) (v) ()

(G (Ed) (1iL) {iv)

T.B.C.: 1T114/ET—III 10



11. faaif=s 7 v - aifasr =1 uferess =1 oftem /e -
(A) 1947 H USA & fom (B) 1947 ® USSR # fom
(C) 1986 H USA = fam (D) T8 § | F1E FE

12, Wﬁﬁ#aﬁ?mﬁmﬁﬁmaﬁaﬁamm:mﬁw%:

(A) T 3T OwE R (B) T2l &fr ammm &
(C) =mers 3 AWl | (D) == @7 ®E J
13. ¥ I = Wy g= 11 = foemy 99 9 &3 %2 @ w30 = =999 wifsn .

o 1 qEr 11

ta) fomfoa == - (@) =R A

(b) === =% ()  LEHE

(c) TE TH (i) FroE wEA

(d) e 5% () e At

()  OESER e

lax) (&) () (d)

(A) (i) (£z) () (iv)

(B) (i) (2if) (iv) (r2)

(Cy (i) (£22) (w) (£}

(D} (£) (zz} (eiz) {£v)
T.B.C. : 17TN4/ET—III 11 P.T.O.



14. According to Stolper-Samuelson theorem :

(A) Trade between countries equalises the relative prices of the goods in the

two countries

(B) International trade raises the relative price of the good which the country
exports (reduces the relative prices of the good which it imports) and as
a result increases the income of the factor used intensively in this goods

production and reduces the real income of the other factors
(C) Raises the output of good which is being exported
(D) Reduces the income of all the factors of production
15. Crowding c;ut effect due to expansionary fiscal policy occurs because :
(A) demand for money is perfectly interest-elastic
(B) interest-elasticity of demand for money is low
(C) investment is interest-elastic
(D) Both (B) and (C)
16. IS curve shifts due to :
(A) Change in Government Expenditure
" (B) Change in demand for exports

(C) Change in tax

(D) All the (A), (B) and (C)
T.B.C.: 1714/ETIII 12



14, WeR-F2e9T (Stolper-Samuelson) T F AR ¢

(A) 31 29 & g =R 3F 39 A awg & wnfhe e # wEE (FER) RO
®

(B) meaﬁ%WWﬁq@m%ﬁﬂ%ﬂﬁmm%
(s a5 @1 SAS Ted UM ) dR e UReTeEEd 39 YA F AE
i gfz Fwa ¥ e wam faffoa axg # afees @@ & o9 TR 9 &1 5™
d o @ B e

(C) =R frafa #1 o/ ot a5 ® ST § gfg s ®
(D) =R st w1 oA ¥ FE A

15. fammad TSy i 3w et @ (Crowding out) 3= &dl ¥,
e

(A) T F HN F AW A= AT ¥
(B) 9Z1 ®1 Wi H =W @ H9 B €
(€) fraw == davia ¥
D) (B) 74 (C) 3 @ &

16. IS @& ? F wR WA E |
(A) uEwtE =59 § g
(B) frafa = fom wim # 33
(C) =X § ufadd
(D) (A), (B) 9a1 (C)

T.B.C.: 1714ETIII 13 P.T.O.



17. Which one of the following is called as the Gossen’s first law ?
(A) Law of Indifference
(B) Law of diminishing Utility
(C) Law of Returns to Seale
(D) Law of Variable proportions
18, Which model has unstable and indeterminate equilibrium 7
(A) Pareto Model
(B) Bertrand's Model
(C) Edgeworth’s Duopoly Model
(D) Chamberlin's Oligopoly Model

19. In case of returns to a factor: marginal product of the variable factor is
maximum in :
(A) Stage I (B) Stage II

(C) Stage I1L (D) Not related to stages

T.B.C.: 1714/ET--III 14



17. =1 § § F=a 9T (Gossen) &1 399 7 wgamm & ?
(A) =z =1 faw
(B) ==dl Iuifmar &1 f=9
(C) T # wfows =1 fFam
(D) Tafay soml =1 fa9
18. ®FE HiEd AR (unstable) T8 #MT=d (indeterminate) TgeH 9ia & ?
(A) T AfzE
(B) =2vz = #Alsd
(C) w=ad =1 gafusn HiEg
(D) S=ifad &1 Saien "ea

19. TF wWyd # ufawa % d"@ed A, s ofiEdavie wes % duea S Siaead

o
(A) 319tz 1 ® (B) 2m=e=n II |
(C) ar=eenm III ® (D} mﬁﬁ#m#ﬁ%

T.B.C. : 17T14/ET—III 15 P.T.O.



20. What is meant by the New International Economic Order 7

(A) A liberal order that the west formed through the World Bank, IMF and
GATT

(B) An unsuccessful campaign for reforms made by the developing countries
in the 1970s

(C) A successful campaign for referms made by developing countries In
the 1970s

() None of the above
21. The “Rise of China” :
(A) ie an issue considered by every region of the world today
(B) is unequivoecally a cause for optimism
() is characterised by shift towards economic autarky
(D) All of the above
29  For an economy it is given that :
C =200+ 08 y; Ya =¥ — 1y
t =025
I =700 - 50i

800

[}

G
L 0.25 y — 625 &

r;#{ = 500

Find out the equilibrium level of income (y) of the economy.
(A) Equal to 2500 (B} Equal to 3500
(C) Equal to 4500 (D) Equal to 1500

T.B.C.: 1714ET—IN 16



90. WE-IrEg afde ek | A oAfuvE ¥ ?

(A)@mmmﬂfﬁﬁﬁﬁmﬁﬁ,aﬁ.@.m.mﬁzémﬁﬁa
fom % '

(B) frwrasie 29 g0 1970 F TWE F WA W TH AGHA WH
(Q)ﬁméﬁmwm%mﬁmmwmlm
(D) 3w # F w '
21. ‘¥ w1 }|F' :
(A) TF T favg ¥ ST o fava $ ySE 99 gW WewU W S €
(B) fi:le = I FH ¢
(C) s srefufar # 3R gHE e
(D) 39gF Bt
22. UF wdegaen & fow 7% T mw %o
C =200 + 0.8 y; Yg =¥ — U
t =026
I =700 - 50 i
G = 800
L' =025y —625i
%:500
Feferaeen &1 Hged 9 (y) # W i
(A) 2500 & =T (B) 3500 & S
(C) 4500 = =R (D) 1500 & =R
T.B.C. : 17/14/ET—III 17 ~ PTO.



_2:3. Effects of fiscal expansion in a large open economy are :
(A) Real interest rate and exchange rate rises
(B) Income level rises
(C) Net export falls
(D) All of the above
24. Mj; measure of money supply does not include :
(A) Time deposits wit}; banks
(B) Cash with public
(C) Demand deposits with post office
(D) Demand deposits with banks
95. The optimum tariff is at a point where the elasticity of the Offer curve 1s :
(A} Unity
(B) Infinity
(C) Less than unity

(D) Greater than unity but less than infinity

T.B.C.: 1714/ETII 18



93, TH TS el femEran F yemng fawn ® o9WE €
(A) =rafas == X @ fafe & A §
(B) 34 W W@l §
() 7= fea fa &
(D) s |t
24. TH U ® My morm # e § @ o ownfve T ¥ 2
(A) T & wa g oW
(B) Sl & UH FHaEl
Eﬂjﬁﬁmﬁnﬁnﬁm
(D) F=Hi F T S
25, TW=AY YEF 39 fog W M wE W AfE 5% W A
(A) TFE & atE o
(B) &7 #
(C) =K | =9 B

(D) THE | Agw ofFT o= & w1 2

TB.C.: 1TN4/ET—III S 19 PT.O



26. Match List I with List II and select the correct answer using the codes given

27.

below :
List 1
(@) Dawvid Riecardo

(b) Bastable and Marshall

(¢} G. Haberler

(d) Alfred Marshall and Edgeworth

Codes :

(ee) (&)
(Ay @ (i)
(B) (1) (fv)
(Cy (w) (£}
(D) (i) (£)
The
and

3
(A) 10

10
(C) 3

TB.C.: 1TN4/ETIII

() {d)
(it} (§ii)
(i) (i)
(i) (i)
(£iE) (ii)

supply function of a commodity is

List II
(£}  Supply side of International
Trade
Demand side of International

Trade

(1r)
(iti) Opportunity cost of International
Trade

{iv) Real cost theory of International

Trade

=g +x

20

the quantity sold is 7 units. The producer surplus is :

T
(B) 5

m 0



26, =t I &t oWy T I % my foomu ow A 52 s 9 " S % W
it '

= 1 et 10
(@) 2fgg f=mrgl | (})  FF=EE SR # g g
(b) F=Aw UwH HTEE \ @) ST T A 9
(¢) . FaE (i) wOUE =T F EE
(d) FHhs O¥E § waad (fv) FEE SR F aEEEs arh
fogm

(a) (b) (e) (ef)
(A) () (fv) (L) (1)
(B) @) (iv) (iit) (if)
(Cy (iv) (£} (1) (12t}
(D) (iv) (i) (irL) (££)

27. &8 =1 9 wEE
P=4g +x

A Tl ® A 7 THEd §, SR AfME ¥ o

3 T
(A) 10 (B} 5
(C) % Dy 0O

T.B.C.: 1TH4/ET—II 21 P.T.O.



28.

29,

30.

Marginal cost of a firm is :
MC = 4 + 6x + 3022

where x ig the number of units of the output and the cost is measured in rupees.

Total cost of the firm when i}xed costs are Rs. 500 is :

(A) C = 10x% + 3¢% + 4x + 500

(B) C = 4x + 6% + 30x* + 500

(C) C = 4x + 3x% + 300«% + 500

(D) We cannot find out total cost

Laffer curve shows :

(A) Tax revenue increases with the increase in tax rate

(B) The revenue decreases with the increase in tax rate

(C) Tax revenue remains constant when tax rate increases or decreases

(D). Total tax revenue first increases as the tax rate rises and then eventually

starts decreases
A liquidity constraints exists when :
(A) Bank refused to lend for consumption
(B) There is shortage of money supply in the economy
(C) People do not deposits their savings in the Banks

(D) A consumer cannot borrow to sustain current consumption in the expectation

of higher future income

T.B.C. : 17T14ET—III 22



98 MC = SH9= &@7a = 4 + 6x + 30x%, x = SRS F THEA, @@ S TG H W9
TH % | BH H HA @rW TafEgn &4 Alg e o@m s00 v w7

(A) C = 10x° + 3x2 + 4x + 500

(B) C = 4r + 6x% + 302 + 500

(C) C = 4x + 3x® + 300«7 + 500
(D) sF # & FE off w5 o9 T ¥
29. TR T% ST ¥ o
(A) FT TorE %1 X H gfe ® Wy wEa ¥
(B}aﬁvﬁﬁmﬂﬁqﬁ%maﬂm%
(C) T ToeE L H gfg T F A F wAE T ¥

(D) =& 1 Toa & § =g &, S8-S0 #1 91 wedl ¢ 99 HS U9 g =l

o
30, e Femy wfes § 2m .9
(A) % T & fom W 3 @ " W T
(B) sAdememean # 3R m@ IR w1 wH ¥
(C) T ATH Sl w1 q H AW TR el

(D) dfas § 29 T HAfas oM = 39l # UF SudEW gOAE S9Em S SRl
=y & fau vy 79 @ g

T.B.C.: 1T14ET—II 23 P.T.O.



31. According to Neo-classical theory of business fixed investment is :
{A) Net investment spending depends upon demand for final goods

(B) Net investment spending is governed by discrepancy between actual and

desired capital

(C) Net investment spending is governed by rate of interest

(D) Net investment spending depends upon stock nlf inventories
32 Rental cost of capital is higher due to :

(A) Higher the real rate of interest

(B) Lower the price of firm's stock

(C) Higher the rate of depreciation of capital

(D) Due to above all
33. Auto-correlation means :

(A} Disturbance terms e; are independent of each other

(B) Disturbance terms are irrelevant

(C) Disturbance terms are interrelated as a result least square estimated are

unbiased but the variance of the estimates is not minimum

1

(D) Dependent and independent variables are perfectly correlated each other

T.B.C.: 1714ETIII 24




31. A-yEEt fagid # oEr =R fer fRw T
(A) 7% faw =@ sifm el = A W fR R
(B) % v =1 arafas wd @i gt § SR (discrepancy) W it & ¥
() 7% faw = = %1 ¢ W ol 2@ %

D) 7z fEw =@ ==y # wF ® Rk F@ E

32. st &1 f&wm @@ (Rental Cost) 3t ¥, Hif® :
(A)m&’farmfamzza;m%
(B)wﬁa}mﬁaﬁam%
©) T F formme #= w AfaE &

(D) S9gF [l & FRI

33, W-TEEEY w1 INE ¥
(A) Ffedl e, T TR W PR F Fd
(B) Ffeal sl ¥

(C)gﬁﬁ@@i%m%,%mﬁwaﬁmﬁwa%mm

F WO A9 @l e

() fok @ WA T TR A T R wEe ¥

T.B.C.: 17/14/ETIII 25 P.T.O.



34. Multicollinearity means :

(A} In multiple regression model independent variables X; and X; are

interrelated
(B) Disturbance terms are interrelated
(C) Mean of disturbance term is not zero
(D) All of the above are true

35. Disposable Real Income (DRY) of a household may be defined as, where E is
earnings, Ty is income tax, P is Price (at factor cost) of ﬁrﬂducts bought and

Tg is Sales tax addition thereto :

E+Ty _GP E-Ty DY
Ty -E _ DY Ty + Ty GP
(C) DRY = Ty — P GP (D) DRY = E-P DY

i
|
36. The ‘Free rider problem’ is just a reflection of an important incentive problem

that :

(A) Arises in case of public goods
(B) Arises in case of private goods
(C) Arises in case of public and private goods

(D) None of the above
T.B.C.: 1T14ET—III 26



34, wE-THiEHT F AT T
(A) 7 =1 9@ wgEw § wed WX, o X g § wEtum @
{Biﬁﬁ@iﬁﬂﬁﬁmi
() el w1 wem v T R
(D) Svdw weit W €

35. w'mﬂﬁwﬁﬁﬂwmaﬁﬁﬁmwﬁmﬁaﬁmmm%,
5l E = 3, Ty = A&, P = ®iFd (FeEF a0 W 95 H BT F:) 99 Tg
fa=mt =1

E+Ty _ GP . E-Ty _DY
(A) DRY = P TS DY (B) DRY = P + TS GF
Ty -E _ DY Ty +Tg _ GP

36. Eﬁ@ﬁﬁﬁﬂﬁwmmﬂﬂﬁﬁﬁﬁﬁ%,ﬁﬁ:
(A) TRTE o $ gay # IO e ©
(B) Freft axg & daiw & 3= o ¥
() Tt i oeefe o ® e ° S BEt §

(D) swdea # | w9 T
TR.C.: 17/14/ET—III 27 P.T.O.



37. What best describes the relationship between inequality and economic

growth 7

(A} The countries that have developed most rapidly have lower levels of

inequality

(B) The countries that have developed most rapidly have higher levels of

inequality

(C} There is no consistent relationship between inequality and the pace of

development

(D) Planned economies have developed rapidly with low inequality, but

unplanned ones have only developed when inequality is high

38. Encouraging the development of a domestic market by substituting domestically

produced goods for imports is called :
(A) Export-led growth (B) Central planning
(C) Import substitution (D) Laissez-faire
39. Prime Lending Rate (PLR) is the rate at which :
{A) Bank lend money to RBI
(B} RBI lends money to other banks
(C) Bank lend money to other banks

(D} Bank lend money to their premium customers having good credit
worthiness

T.B.C.: 17TM4/ET—III 28



37.

38.

39.

FrT GEY AEEET aw onfdE faww ® Haw @ W= 'Y 9 Wih w7 v 2
(A) SHAFE w1 WE 39 o3 6 e g ¥ fa=ia die ufe & e e R
B) fua 2t 3 §9 nfa & e few ¥ ol smEEe w1 wR oTive B €
(G}ﬁﬁmﬂﬂﬁlwmﬁaﬂﬁmﬁﬁﬁaﬁ%

(D) st sderetad =Haq smEFme & Wy 9w v @ st g€ € &

afrifn sideraad 7a fowfan g8 € 9@ smwmad sfus 2

AW = T, adersen § e wwgel ¥ wRwam @ A @ faww w0

FEd T |
(A) fafa ifim fasm (B i=a sEeA
(C) T~ wfasera= (D)  #EudE (Laissez-faire)

‘et SR W' (PLR) 98 & & @ W
(A) ¥ W fisd ¥ # U 2@ R

(B) Wity figd 9% a9 =i #1 WR = T
(C) &% |l F=f 1 uR W %

(D) % oTey wiafeen oSl fosl 9@ a=dt &, &1 IR 3@ 2
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40.

41.

42,

43.

44,

The term ‘Social Accounting’ was first introduced in Economcs DY -
(A) J.B. Say (B} Alfred Marshall
() J.R. Hicks : (D) J.M. Keynes

The concept of ‘previous peak level of consumption and income' is given

by
(A) Duesenberry (B) Modigliani
() Friedman ) (D) Keynes

If the exchange rate has larger effects on net exports then ADI curve will

be :
(&) Flatter (B) Steeper
(C) Horizontal (D) Vertical

IMF is the result of

(A) Hawana Conference (B) Rome Conference
(C) Bretton Woods Conference - (D) Geneva Conference
The.terms TRIPS and TRIMS are related to :

(A) NAFTA (B) SAFTA

(C) EFTA (D) GATT

TR.C. : 17T14/ET-1II 30



40. T REREN & emuR #1 Adve § wed wea e owwm e 2
(A) S | ' (B) sohs HI9E
(C) 9.3 fesm ‘ (D) HUE. HT
41, foeen ama wd Iudm # S=9od wOH sEuron fEed €1 2
(A) ZEeEd (B)  Hrifrerari
(C) Wrzh (D) ==
42, ﬂﬁﬁﬁmﬂﬁﬁmﬁﬁhmmﬁnmﬂﬁ,ﬁmlwm :
(A) FHT= (B) =
(C) #fes (D) wrEEg
43, IMF (smW.wATs.) fegs oftomm & 2
(A) TEF HHEA (B) 19 HHEH
(C) s 98 FoeH - (D) ﬁﬁar T
44, TRIPS #iR TRIMS s@unvm fawd wafvd € 7

(A) NAFTA (B) SAFTA

(C) EFTA (D) GATT
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45 Which of the following is not correctly matched ?

46.

47.

(A) Life Cycle Hypothesis —  Baumol and Tobin
(B) Permanent Income Hypothesis —  Friedman

(C) Relative Income H},r]:-m:‘.hesis —  Duesenberry

(D) Absolute Income Hypothesis —  Keynes

Given the Cobb-Douglas production function :
Q = AL*KP,

The efficiency of production is measured by :

(A) Aloe + B) (B) A

(C) a.p (D) Ao

According to census 2011 data in which of the following Indian states the decadel

growth of population is higher than the National Average ?
(A) Uttar Pradesh (B) West Bengal

(C) Karnataka (D) Himachal Pradesh
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45. frfafes § @ +98 9dm =1 foam w8 98 & 2

(A) SitEA-=w wfEea -  dE #ir 3
(B) ®a ama ufised t - W

(C) uhfrE s i - =it

(D) Tuy = afiswer - ®H

46, FE-TIEH IURA W A g ¥
Q'= ALYKB,
FEA ®I wYE w fHEEE A Erﬁ-n g ?
(A) Ala + B) (BY A
(C) a.p | | (D) A«

47. SETUAT 2011 % #HEE F AR Frefatas § @ sFE adm T 7 o sahe

9fE 1 U e @ afuw ¥ 2
(A) T W (B) wfvem =
(C) wAleH . (D) feoresw ww
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48, The apex organisation of industrial finance in India is :

49.

50,

al.

(A) ICICI (B) IFCI
(C) IDBI (D)  RBI

It may be more efficient to supply the good publicly than to have the good

supplied by the private market, because :

(A) Transaction costs are high

(B) Marginal costs are low

(C) Transaction costs are sufficiently low

(D) Marginal costs are very high

Online Tax Accounting System (OLTAS) was operationalised in the year :
(A) July, 2009 (B} July, 2003

(C) July, 2004 (D) July, 2002

Fiscal deficit is equal to :

(A) Total expenditure — Total Revenue

(B) (Total expenditure both on Revenue account and Capital account) —

{Revenue Receipts + Non-debt capital receipts)
((1) Total Receipts — Interest Payments

(D) None of the above
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48,

49,

a0,

al.

g 8 e B o == 9 #
{A) ICICI {(B) IFCI
{C) IDBI (D) RBI

ot = gw T w ofd ® g § weefve A g oww w1 9 s HiuE
oA B wEa ¥, FHfE

(A) "1 wa wfess §

(B) =g &% %9 ©

(C) drE A FE wH 2

(D) ==/ & 989 sifg® ¢

e w1 S sHEsl (OLTAS) Reaf=d =1 7

(A) ==, 2000 # (B) W, 2003 H
(C) =g, 2004 (D) e, 2002 H
TS bE o= 99 £ o

(A) FF =9 — T ATH ®

(B) (7w = i 95w 26 W owE o) — (e i 4+ R e
wrierEf )

(C) =d Wiadl — == g

(D) =udea § | =+ T
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52. Primary deficit is equal to :
(A) Fiscal deficit — Interest payments
(B} Revenue Receipts — Interest payments
(C) Expenditure — Revenue Receipts
(D) Trade deficit
53. A linear programming problem will have more than one optimal solution
if :
(A) The objective ﬁ;nctiun is parallel to one of the constraints
(B} Constraints are satisfied with the equality
(C) Value of all selected variables are zero
(I None of the above
54, Nash equilibrium :
(A) is a strategy for a player which gives maximum pay-off

(B) is a strategy choice for each player that is best choice for each player given

the other’s equilibrium strategy
(C) iz a dominant strategy equilibrium

(M All of the above
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52. wafas = =1 & 9H ®
(A) TSHEE 92 — A YA
(B) T wifedl — =S YA
(C) =@ — TwE Wil |
(Diamtﬂra
53. U faw w99 w1 UF ¥ afus geas wmeE e, ai| o
(A)mm.ﬁaﬁ;ﬁﬁ@%m%_
(B) framy qofean @ @@ €
() fafgm s ™ wft = =1 WA = R
(D) 37 ¥ | HE T
54. 9 (Nash) g :
) T fomdt F fre T wRifs & foed sew st s fie &
(B) o fawmedl %1 Safea wrlfa & favg v+ faargt & o Torifa &1 y=aq
T ¥
(C) & waa TrHifa Sged ¥

(D) s9dE |t
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55. A dominant strategy is :
{A) For which the player's pay-off is positive
(B) is a best response fo ;m:-,r strategy the other players might choose
(C) is-a strategy that rarely chosen by a player
(D) is a mixed strategy

56. What is the new base year which have been adopted by CSO for caleulating

GDP ?
(A) 2010—11 ' (By 2011—12
(C) 2012—13 (D) 2013—14

57. As per Budget estimate what is the percentage of the fiscal deficit and revenue |

deficit respectively for Govt. of India for the year 2014-15 ?
(A) 4.1 and 2.9 (B) 4.5 and 3.2

(C) 4.8 and 3.6 (D 4.1 and 3.6
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55.

56.

57.

T YA AR TE E

(A) ﬁﬁ%mf@ﬂ@mmm%
EB}mmmﬁ%ﬁﬁﬁmﬂﬁwaﬁmm%

(C) T Torifa ¥ Tl # faedt qfwe @ g @

(D) = fafm worifa
ﬁﬁmaﬁ‘méﬁ:ﬁﬁt.ﬁm%@?}m.m%ﬁmmw% ?
(A) 2010—11 {E} 2011—12

(C) 2012—13 | (D) 2013—14

YT AR ® T w9 2014-15 F g9 A % ATER TG G E [e

uel way: wfavm feewm & 2
(A) 4.1 TE 2.9 B 45 T 3.2

(C) 4.8 ©H 3.6 | D) 4.1 TE 3.6
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58.

59.

English philosophers Jeremy Bentham and John Stuart Mill in the late
eighteenth and early nineteenth centuries, the essence of the Utilitarian
argument in favour of redistribution is that “a dollar in the hand of rich person

is worthless than a dollar in the hand of a poor person” which means :

(A) If the marginal utility of income declines with income, transferring income

from rich to poor will inerease total utility

(B) If the m@.rginal‘utilit:,r of income increases with income, transferring income

from rich to poor will increase total utility

(C) If the marginal utility of income declines with income, transferring income

from rich to poor will decline total utility
(D) Mone of the above
LM curve slopes upward because :
(A) Demand for money is positively related to interest rate
(B) Demand for money is negatively related to rﬁte of inter:est rate
(C) Investment is interest-elastic

(D} Supply of money is constant

LE R s
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58. e TEiE 9. e vE 9. H. e 3 oo e @ Ie0g ud Iewe we
F U H The essence of the Utilitarian argument in favour of redistribution
is that ‘‘7iiE = w1y 8 TF TR F qoF U HER @Y A UF SN W YEd wH

T ¥, T AtiE o

(A) mmaﬁﬁmﬁaaﬁrﬁmm%mqmﬁmﬁﬁﬁnﬁaﬁﬁtmm

T Fel JOAE W FE 85

{B}Wﬂﬂﬁﬁﬂhmmlﬁmﬂﬁgﬁﬁﬁﬁaﬁrﬁﬁﬂﬂﬂaﬁaﬁtm
1 T wE AR W g AW

(C) =R @9 H1 diad TwEifiE s & WY WA A s | e w1 AN s W
LAY WA ITEMTE F FE OF W

(D) 37w | | = o 76 |

59. LM &% @ @@ +4a § TR H i ¥ i
(A) W51 W1 T TN W T W TEY TG FEEE ¥
(B) g1 &1 Hin w AW F T F A BUHS Fad O

(©) Fim == # W AR &

D) T w9 R T
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60. According to Mundell-Fleming under fixed exchange regime :
{ﬂ;} Monetary policy is exogenous
(B) Monetary policy becomes endogenous
(C) 'i‘he country cannot devalue the currency
(D) All of the above
61. Given the production function
WK, L) = AlaK™ + L™

where A, a and b are positive constants and r # 0 with r > —1, the elasticity

of subsitution OKL is -

| R

(©) oyp, = — D) ox, = 7o

62. "The production function
| FK, L) = A@K™ + bL7)"™"
is called the :
(A) Log-normal production function
(B) lﬂuntilef production function
(C) Cobb-Douglas production function

(D) DES production function

TB.C.: 1714ET—-11 42



60.

B1.

62.

HEH@-THT (Mundell-Fleming) % #ar fet fafma g1 =geen & @
(A) fs= Hfy =fesfa &
(B) difgw ifq io=ia & sl
(C) 31 sad Hg1 w1 FEUTdd e 1 Weal §
D) ST HA
FUEA A
F(K, L) = A@@K™ + L7y™"

il A, @ AU b YARHE® FEL W r o2 0 9 r > -1 WhvwA W A= (vE)
Eﬂﬁﬁ-%:

(A) ogp, = A B ok, =3

- 1
©) ogy, = = D) o= 1.p
FART T

K, L) = AeK™ + bLy™r

(C) wE-TeE 9" He

(D). ®.EwH. (CES) T9EA Hed
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63. Greater is the degree of monopoly if the cross elasticity of demand is :
(A) Higher (B) Lesser
(C) Infinity 5 | (D) No way related
64. Oligopoly is a market structure characterised by :
(i) Few dox.nina_nt firms
(ii) Homogeneous or differentiated products
(iii) Interdependence among the firms
(A) (i), (i) and (i)
(B) (i) only
(C) () and (i7)
(D) (it) and (i)
65. The phrase ‘Fine-tuning’ used by Walter Heller refers to :
" (A) Government’s role in regulating inflation and unemployment
(B) Government’s role in regulating inflation and employment
(C) Government’s role in regulating deflation and unemployment

(D) Government’s role in regulating inflation and poverty
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64.

65. am%mmuﬁmfammw“wﬁazgﬁn”wﬁm%:

(A) sfuE (B) W

(C) ¥ | (D)A-ﬁ%?iéﬂ'-m'i
mmﬁm@%wm%:

6)) agésrgatsﬁ

i) wEy W vl 3ER

(iii) B F SFAEEY

(A) (D), (i7) W& (D)

(B)W(i).

(C) () & (if)

D) (i) & (iii)

(A) TRl @ Femd # fefa F3 § s wiogEe

(B) weredifa 3R IomR i frEfm w3 § wWHR H yfEe

(© sty St AT B FrfE w3 § G g

(D)g;mmmaaﬁdﬁamﬁmﬁm

T.B.C.: 1714/ET—III 45
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66.

67.

68.

T.B.C.: 17/14RT—II 16

‘(i Keynes cxpansionary fiscal pol'icies explain that government should cut

‘taxes and raise gpendings to get out of slump.

(i) Kevnes contractionary fiscal policies explain that Government should raise

>

taxes and cut-spendings to bring the economy ouf of inflation

{A) Both (i} and (i) are false
(B) Both (i} and (i) are true
(C) Only () is true

(D) Omly (ii) is true

What was the gross capital formation and gross savings respectively for t

year 2013-14 in India as percentage of GDP ?
(A) 2.3 and 30.8 | (B) 366 and 31.8
(C) 339 and 38.2 D) 38.2 and 33.9

What was the percentage contribution of a-griculture and allied sectors to GDE

in India during Eleventh Five Year Plan ?
(A) 19 Percent B 152 Percent

(C) 14.5 Percent i {D) 22.3 Percent



66.

67.

68.

) Fr Hl TawrEEl vewnE A avE s F R oA 8 e # e R

% w1 H w0 R = § gfg w6 e

(i) HFE H HgpEan] TewEE A0 qadl & B adermen @ qEewila § v
% fou =3 # 9fs siv =@ 4 =@ s =fer |

(A) (D #R (i) <5 e E
(B) (i) 3R (i) <91 W8l §
(C) Fad () W&l &

(D) Haa (i) & 2

yRd H W 2013-14 ¥ WA g9 WM U§ 9% a9d HEe: SLELd. 1 o
yfaee a1 ? .

(A) 323 W 306, . . (B) 366 TH 31.8

(C) 339 uwd 38.2 | (D) 38.2 E_a' 33.9
11&%%%%@@% B w1 v & wnEtd. # fean i
AR TE e ?

(A) 19 wfavm ' (B) 15.2 wievym .

(C) 14.5 Wiy (D) 22.3 whwm
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69. Price discrimination is possible and profitable only, when :
(i} No resale of the commeodity
(ii) Segmentation of market

(iii) Higher price in elastic market and lower price in less elastic market

(A) Only (D) . (B) () and (i)
(C) Only (iii) " (@) (), (i) and (i)
70. Arrow’s ‘Tmpossibility theorem’ is related to : |
(A) Voting Paradox (B} Adverse Selection
(C) Moral Hazard (D) Imperfect Information

71. Cournot Model is based on the following assum[;tinn{s} :
() Duopoly
(iz) Given the rival output
(iti) Both firms maximize profit
(i) Profit is not the objective of firms
(A) (i) and (i) (B) (&), (i) and (it)
(C) (i) and (i2) ' (D) All of these
79 Given the input coefficient :

Q0 0.3
-
0.3 0.1

The technology matrix is :

(A) (A - T ' o o® -1
1 —0.3 ) '
(C) (D) None of these
-0.3 0.9
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69. Fma faie wwa @ WWER T dad, TE@E
() =% & gA: fawt 3 @
- (i) =R w1 favesE
(iii) 9ER IR H AU N9 U9 &9 dbeR SR 8 %9 ®iEd

(A) FaEA (7) v s - (B) () W@ (iD)

(C) &ad (iii) D @), Gi) & (@)
70. M (Arrow) 1 ‘eFrwa wiE' fHEd wEfvm &2

(A) Ffén fademam (B) fawim T

(C) Afasw wfeTm - (D) YO SR
71. FA AEd A gl w enanfa § 2

(i) TAHEDR | , :
i) WRER W Raw T vER |
(iif) THI BH N H AfuFHan FE B
(iv) oM Hfda ST BH F IeTF &
(A) () @& (if) | (B) (i), (i) @& (iii)
(C) Gi) & (idi) M) & |
72. [ Il & fau @ TR R SR (Matrix) F ¥ -

00 0.3
A=
0.3 0.1
9 dFAw g% (Matrix) I% BW :
A) [A = 1] B) (A -1}

1 -0.3 '
(C) [_0_3 0’9J D) T8 ¥ 8 98 78 ¥
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73. The viability of the input-output model is that output level of each and industries

must be non-negative. This condition requires :

(A) All principal miners of the matrix [I — Al must be positive
(B) The determinant of [I — A m;lst be positive

(C) All the leading principal minors of [I — A] must be positive
(D) All the elements of [I — A"l be positive

. T4. Arrange the following Indian states in descending order on the basis of sex

ratio as per 2011 pc:-;:-ulatinn Census :

(1) Bihar

(2) Gujrat

(3) Himachal Pradesh

(4) West Bengal

(A} (4), (3}, (2) and (1} | (By (3), (4), (2) and (1) -

(C) (3), (4), (1) and (2) (D) (4), (3), (1) and (2)
75. “World Economic Qutlook” report is published by :

(A) World Bank (B) RBI

(C) UNCTAD (D) IMF

T.B.C.: 1714/ETII 50



73. smE-Frfa Hrea @ syl g ¥ ww g s w1 SR T @ | 9w

qut gE ¥ W

(A) #fzag [1- A) & ft ga @g9e wRes 3 el

(B) feefifi= (I - A] ¥e® 81 e

(©) n-m*wfta@%ﬂa‘ﬁ«:maﬁm |

@) I — AI"* & |t 7= = 81 e
74. 2011 mmﬁmﬁnmémmﬁﬂmm&m

FHEER @

(1) far

(2) TR,

(3) fear=e W

(4) fyem s

A) @), (3), @) 79 () ® @), @, @ WD

©) (3), (4), (1) T (2) ® @), @), (1) 39 ©2)
75, “fava i srsegw’! fid FA W@ WA ¥ 2

(A) fava &= B) fod F& AF e

(C) ¥maE (UNCTAD) (D) ¥E.TA.T%.
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